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Multiplicacion (Vertical) Nombre:
Resuelve cada problema. Respuestas
) 1,780 2 5203 3 1,300 4 3.194 X
X 7 X 2 X 5 X 2 '
2.
3.
4,
5 5,086 6) 7,748 ) 6,925 8 1,444 i
X 9 X 9 X 3 X 8 '
6.
7.
8.
9 4,205 100 6,725 1) 4,101 12) 5,858 .
X 3 X 9 X 3 X 8 '
10.
11.
12.
13 5,153 14) g,553 15 4,823 16) 1,959 .
X 2 X 8 X 8 X 2 '
14,
15.
16.
1) 6,494 18) 6,670 19 5,590 200 3,914 .
X 7 X 3 X 7 X 4 '
18.
19.
20.
,y 1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplicacion (Vertical)

Nombre: Clave De Respuestas

Resuelve cada problema.

) 1,780 2)
x 7
12,460

5 5,086 6)

53,874

9 4,295 10)

12,885

13) 14)

5,153

10,306

17) 18)

6,494

45,458

5,293
X 2

10,586

7,748

69,732

6,725

60,525

8,553

68,424

6,670

20,010

3 1,300 4
x 5
6,500

) 6,925 8)

20,775

11) 12)

4,101

12.303

15) 16)

4,823

38,584

19) 20)

5,590

39,130

3,194

X 2

6,388

1,444

11,552

5,858

46,864

1,959

3,918

3,914

15,656

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Respuestas

12,460

10,586

6,500

6,388

53,874

69,732

20,775

11,552

12,885

60,525

12,303

46,864

10,306

68,424

38,584

3,918

45,458

20,010

39,130

15,656
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